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201 et 9| 3,730 ,655 N 1,925
01 AP 22| d| 3,730 ,655 AN 1,925
1) Bt424| 1,000
2NREE 22 1,000,000 1,000
1)= 2| 2,730
2IMEANLES HE |
77,0002 3 %130 2,730
202 044 6,500 ,260 A 1,760
01 2L Y| 6,500 ,260 A 1,760
NATIWLAR=A =L o]
50,000& *130 6,500
HSAEXH 230,600 ,600 A 229,000
201 et | 12,600 ,600 0
02 B232%H| 12,600 ,600 0
NHSAEEI| L 750,000 x12& 9,000
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EX: S22
S O
ool BBIYYEN CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
NAHOIEEZE FHIL2(H S, 2E, 22,24, &
A EX) 50,000 6 A+ 120 & 3,600
401 AlEHIZL £ 0HY| 218,000 447,000 A 229,000
01 Al&H| 218,000 447,000 A 229,000
NHEANLEE SANBEUES(ERE)
5,000,000 *6IH A 30,000
NHEANLEE SANBALUES(HIAZHOIEER)
3,000,000 104 2~ 30,000
NHEANEES SA2ALES(LEHOIEESZ)
3,000,000 104 2~ 30,000
NHSAEES SAN2A2UELX(22E)
3,000,000& x14l 3,000
1)Aal9 JISHOIEEZ EHEL 2 RALY
10,000, 000& 10,000
1N HHRESE ZHAIE BHEIDNERAY
15,000,000& 15,000
NAEHOIE M S AIE EBHELH=E ALY
5,000,000& 14l 5,000
NHIS 4 A2 2SI|37 X 2AF
15,000,000& 15,000
NHI2 4 AHAHOIEESZE QAIXRC &X =2
A 25,000,000 25,000
1NEx 28tel OFMSAIEAY 10,000,000 10,000
1)&A HOIEESR 24X 30,000,000 30,000
NHIZ2 XY HLUAE HES Z2AH
15,000,000& 15,000
SH2SH HE 951,677 2,300,000 N 1,348,323
401 AlEHIZL 201 Y| 951,677 2,300,000 N 1,348,323
01 Al&H| 944 147 2,294,250 A 1,350,103
1)4lol BESST ALY (0IRL)
944,147 ,000& 944 147
03 Al 201 Y| 7,530 5,750 1,780
NAoH ZHASEZ AHE (0IEY) 7,530,000 7,530
Ao AL 2(RA) 1,210,000 594,041 615,959
207 I | 40,000 40,000 0
01 g EAHH| 40,000 40,000 0
DR R=T N e o g =e:)
40,000,000 = 14! 40,000
401 AlEHIZL 2 0HY| 1,170,000 539, 241 630,759
01 Al&H| 1,164,330 539, 241 625,089
122 EALSY EXIOHE 50,000,000 = 14! 50,000
NEAMASHISSIMEZR SA2ACES
50,000,000 50,000
NEXAIE SX 22 1,500,000 *30= 45,000




SN 2s2BD
PSR L
ool BBIWLEN CER-ED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
NETAIE &X 8,943,300x100= 894,330
NE=x 201372 (Mel) BUEXSA
10,000,000& 10,000
nNale AN ISEX &X 20,000,000& 20,000
N S&e 3 4x 15,000,000 15,000
NEN SSa 224 X 20,000,000& 20,000
nNelel stM2= OtS&E X &X 20,000,000 20,000
NXe 2gel ¥4 X 10,000, 000& 10,000
N nael X 4x 10,000,000 10,000
NAe st2el HX & 10,000,000& 10,000
NE £22l BX AR (GHRN)
10,000,000& 10,000
03 Al 2 THHI 5,670 0 5,670
NEXAE &X 900,000, 000& *0.63% 5,670
AL s 2]AXA 500,000 2,083,000 A 1,583,000
& 300,000
e 200,000
401 Al HIZ 201 Y] 500,000 2,083,000 A 1,583,000
& 300,000
= 200,000
01 A& HI 496,400 2,075,800 A 1,579,400
NYX ers2 SJAXZ LAY 496,400,000 496,400
= 297,840
= 198,560
03 AIE 2 THHI 3,600 7,200 A 3,600
NYX RS2 ST LAY 3,600,000 3,600
2 2,160
i 1,440
=2 & =4 883,000 1,700,000 A 817,000
& 500,000
= 383,000
401 A& HIZ 201 I 883,000 1,700,000 A 817,000
& 500,000
= 383,000
01 A& HI 877,753 1,694,240 A 816,487
nolse & =4 827,753,000& 827,753
= 496,652
[ia 331,101
Nalse & =4 (018) 50,000,000& 50,000
03 Al SR THHI 5,247 5,760 A513
Nolse & =4 5,247,000& 5,247
= 3,348
= 1,899
St ol 2+ EIDHIH 3 1,100,000 1,050,000 50,000
& 630,000




EX: S22
S O
ool BBIYYEN CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 470,000
401 A& HIZL 2 0HY| 1,100,000 1,050,000 50,000
2 630,000
= 470,000
01 Al& b 1,096,220 1,044,119 52,101
1)otelol e HIOIE =4 1,046,220,000& 1,046,220
2 627,732
= 418,488
ool LHIOIIIE ZA(0I8E)
50,000,000 50,000
03 Al&E 201 Y| 3,780 5,881 N2,101
1)otolal Y HIOHDIA =& 3,780,000 3,780
2 2,268
= 1,512
SA OIEE2 100212 e AFSY 667,000 833,000 A 166,000
2 400,000
= 267,000
401 AlEHIZL £ 0HY| 667,000 833,000 A 166,000
2 400,000
= 267,000
01 Al&H| 662,798 827,752 A\ 164,954
1)E A OLEE2| 100212 W 662,798,000& 662,798
2 397,679
= 265,119
03 Al 201 Y| 4,202 5,248 AN 1,046
1)S A OF2E 2| 100212 He 4,202,000 4,202
2 2,321
o 1,881
2&)| Olsa Hg 1,000,000 0 1,000,000
401 AlEHIZ £ 0HY| 1,000,000 0 1,000,000
01 Al&Hl 993,700 0 993,700
NAEDI Ol HE(0IEY) 993,700,000 993,700
03 Al 201 Y| 6,300 0 6,300
NS Dl A (0I8Y)
1,000,000, 000 *0.63% 6,300
SSNsEXNXH 360,000 0 360,000
308 AMXISHHMSOIA 360,000 0 360,000
06 EI2UHUSEX= 360,000 0 360,000
NSNS HESEXNXS A
180,000, 000& =2 A 360,000
ZOHSHAHAHE 2,382,261 0 2,382,261
J| 2,100,000
= 282,261
401 AlEHIZL £ 0HY| 2,382,261 0 2,382,261




fAH: S2st22 1
PSR L
& e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
J| 2,100,000
s 282,261
01 A& HI 2,379,071 0 2,379,071
NI2UMSHAHAE 2,379,071,000& 2,379,071
J| 2,097,910
s 281,161
03 AlE 2 THHI 3,190 0 3,190
N2YUMSHHAE 3,190,000& 3,190
J| 2,090
[ia 1,100
S¢ RIS ESE =4 550,000 0 550,000
& 275,000
e 275,000
401 Al HIZ 201 8] 550,000 0 550,000
& 275,000
i 275,000
01 A& HI 546,535 0 546,535
NEL R3S THALY 546,535,000 546,535
& 273,267
s 273,268
03 Al 2 THHI 3,465 0 3,465
NEN SIS LAY 3,465,000 3,465
= 1,733
[ia 1,732
MEHE 84 1,937,280 1,470,910 466,370
J| 154,020
< 1,350
e 1,781,910
=X 1,937,280 1,470,910 466,370
J| 154,020
< 1,350
s 1,781,910
MEXF 2= 24,040 21,910 2,130
201 £er2dg 1,540 3,640 A2,100
01 At 2t 1,540 3,640 A2,100
1)=&l 1,540
)M gl
7,000 *2E %1102 1,540
202 044l 22,500 18,270 4,230
01 SLHOIYI 22,500 18,270 4,230
NHsSIH g2F 50,000& »450& 22,500
HdEH=2438 996,600 592,600 404,000
201 Let249] 69,600 61,600 8,000
01 At 22l 51,600 51,600 0




EX: S22
HM: MEHE 4
e M= (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
DEIPE= 51,600
Q)2 ELUY AI2Z2 250,000 x 160 A x12€ 48,000
)00t I 24 HSH AIE2
300,000 x12& 3,600
03 Al H H| 18,000 10,000 8,000
N2ZE Hal & W= 10,000,000& * 14l 10,000
NAXS0ME X 8,000,000& 8,000
301 LBt A= 30,000 9,000 21,000
12 JIEtE2 A= 30,000 9,000 21,000
)E22 SHMEHNSEEs S5
30,000,000 14! 30,000
307 2Iz2to| A 897,000 522,000 375,000
02 QI2tAH AP E X 897,000 522,000 375,000
1)MI258 Mt S olMaE Y 03
80,000,000& = 14! 80,000
NE=SY 204+ ANSSL
12,000,000 * 14! 12,000
NAOL24D] 7IHE=2 MsUE KA
80,000,000 = 14! 80,000
1NMETS3 2HAL 2 23,000,000 x1A! 23,000
DH218 Meted s SZHCIAHSUHSE &0
15,000, 000 = 1Al 15,000
NMEHSE AIRA 29AdH X
20,000,000 x1A! 20,000
NME S da2e 2 NEEAE N
12,000, 000 « 1Al 12,000
NE2XRAES0LHE HH 40,000,000& = 14! 40,000
NMEHS 2E03 2Dt 10,000, 000& * 1Al 10,000
NMEYE HOIESWUHS &It
10,000, 000 = 1Al 10,000
NI DNA 29 120,000,000& * 14! 120,000
NEXADI ES=2Y MEHSMHE &I
20,000,000& x 14! 20,000
NMEHSXEA L 2AF 22/=MH X
25,000,000& x 14! 25,000
NS FAE MEHSME &I
7,000,000 14l 7,000
NHEHH BEMNEL d2Ua &I
6,000,000 14l 6,000
NMEHSSSs S8 30,000,000 14! 30,000
NUEHSE 02452 25717 L 82X
30,000,000 14! 30,000
NZZMEHESUHE &HOF Y XX
35,000,000 14! 35,000
NMEHSAZZ2YE XA
10,000, 000 = 1Al 10,000
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fAH: S2st22 1
M MEBHR 84
@2 MSIH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NHEHMSAEA L ZAF DA
8,000,000 » 14! 8,000
NYEHs HEdES IS
5,000,000 » 14! 5,000
NECtE A S FHI| 121252 &It
15,000, 000& 14! 15,000
NHMselo & 15,000, 000& * 14 15,000
NHEME XA 10,000, 000& 14! 10,000
NEIMSUHI (R HSTR)
5,000,000 » 14! 5,000
NAHZHES|HE MEHMSUHIMNR(THES)
10,000, 000& 14! 10,000
120134 4Aloh S A IIBSA IS =
50,000,000 =14 50,000
NYEdss X 17,000, 0003 * 1Al 17,000
NYEMs A85s WK
5,000, 000& 1Al 5,000
NMETNSE Al2us EIHl
5,000,000 » 14! 5,000
NYENSE 2UHELdsr SEX2U]
5,000,000 » 14! 5,000
NIMBHEA A3, A2 2 H
3,000,000 » 14! 3,000
NEEXs 8=, dEUsl &g a TAH
20,000,000 » 14! 20,000
Nt s MBS &It
15,000,000 * 1Al 15,000
1o d=C2 AN UE A
30,000,000& » 14! 30,000
NSZ, A0 2 RLEUSI A
50,000,000& » 14! 50,000
NI4NHSH dsadst A 44,000,000 44,000
dEH=se=sd 614,600 597,000 17,600
301 LA Z 398,600 383,600 15,000
Moo=t - 2S2S243 360,600 345,600 15,000
naletz FHeda 30 124,560
)2s 1,300,000& x6H «12& 93,600
2)=¢ 300,000& x6H 123 21,600
2)HE FOty| 1,300,000 x60%*6H *23| 9,360
Ntz 2ad-324l XA 216,040,000 216,040
NEYUMAE &It MXIEZ&8l 20,000,000& 20,000
12JIE243 38,000 38,000 0
NZUEd= Hges Zaz X (He) 8,000
2)14 1,000,000 «3 3,000
2)24 500,000& »4H 2,000




fAH: S2st22 1
Iu: MBHS 84
@2 MSIH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2)3% 300,000& »10H 3,000
NeEds HEESs 43 A (SH) 17,000
2)19 3,000, 000& »2& 6,000
2)2%! 2,000,000 x3&! 6,000
2)3% 1,000, 000& «5&! 5,000
NEIME MHZH M- 23
3,000, 000& 1€ 3,000
NE2 de 24+ 2SEH £ EEXE
10,000, 0003 * 1Al 10,000
307 21201 A 216,000 213,400 2,600
02 2ltF & E X 216,000 213,400 2,600
H52s Mete e MSOs &t
110,000, 000& * 14 110,000
NHMSUHSIARA 29X 10,000, 000& * 14! 10,000
NEZMSEL2L MIOIAAL S A
100,000%25+ 122 30,000
A58 HRALTHSUHSEI} 24u4 de
=4 15,000, 000& * 14 15,000
NHss d=22 L I&FH A
8,000,000& =14 8,000
NeAdE320s 29 2 ISXHAL
25,000,000& =14 25,000
NAsUs LamW M 3,000, 000 1Al 3,000
NZUE deEds 22N 15,000, 000& 15,000
MEXNSXNEX 2sX% 287,040 242,880 44,160
J| 143,520
[ia 143,520
307 21201 A 287,040 242,880 44,160
J| 143,520
[ia 143,520
02 2ltF & E X 287,040 242,880 44,160
1Nger MEY KIS X 110,400, 000& 110,400
J| 55,200
i 55,200
Nosddg MdeHsXAE X B
176,640,000& 176,640
J| 88,320
e 88,320
HSHRH A 15,000 16,520 A 1,520
J| 10,500
< 1,350
s 3,150
307 glz2tol & 15,000 16,520 A 1,520
Jl| 10,500
< 1,350
s 3,150
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0b 0K HO

S
BEMNBEEIIUAS
M g5

Y. B (3H) - HEAY - BES o A o il 2
SN2 243 225,531 147,818 77,713
= 13,400
= 212,131
T A HEFA 13,110 11,820 1,290
201 Bt A | 4,110 3,420 690
01 AFR2 22l Yl 4,110 3,420 690
1)Lt 2H| 1,380
2INREE 1Y 900,000& 900
2)0l8X 20 ABE 40,000& =123l 480
1)2 &l 2,730
)M H2=F 0fAlH|
7,000 *39¥ 130 2,730
202 O B 9,000 8,400 600
01 2L Y| 9,000 8,400 600
NEMZ E2FF ol 50,000& x180 9,000
B2 2EXA 57,271 68,038 N 10,767
= 1,400
= 55,871
101 @121 12,811 12,188 623
04 JI2ZtH 22 XNHEE =+ 12,811 12,188 623
NeEd2eyg 1 12,811
2)J122 39,000& =19 200 7,800
2)J)| &g 7,800,000 *1/3 2,600
)Nt 22 4Y
6,560 x1H *10Al 2 * 1001 & 656
PAESS == Et=, 39,0003 *1H 35 1,365
)M XNK2EIE 39,0003 *1H*10! 390
201 et A | 33,060 50,450 A 17,390
01 AFR2t2ldl 4,300 25,950 N 21,650
1)L et 2| 4,300
)8 EE 1 2,300
3) M At 100& =3, 0000H 300
3)eta 20& *10,0000H 200
2= 100& *3,0000H 300
JNEMHE 4,000 x2000H 800
3) & At 9| IH 100& *3,0000H 300
3) et 3| I 50& =4 ,0000H 200
3)HI2EII T 100& *2,0000H 200
)T NEEEEEE 750
3)UIAXMILEZ| X 25,000& 63 150
3)DB=S Al DATHI 20,000& *307H 600
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fAH: S2st22 1
My ZRCNRSAIHRE
Sl ZBEAT HAE )
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e 52
02 = A=l 2,000 2,000 0
N&EOIIe H220HIX SHA7Y
2,000,000 2,000
& 2,000
ANEHNFTNES 20,000 10,000 10,000
& 10,000
e 10,000
405 RHoHE S HI 20,000 10,000 10,000
& 10,000
s 10,000
02 = A=l 20,000 10,000 10,000
NEA2 X+ 10,000& =2,000& 20,000
= 10,000
[ia 10,000
128 122 =4 127,190 50,000 77,190
307 21201 A 87,190 50,000 37,190
02 2ItF & E X 87,190 50,000 37,190
NESTNZ 24 BX 87,190,000 87,190
401 Al HI K 201 I 40,000 0 40,000
01 A& HI 40,000 0 40,000
NEA 2 M2 AlE JHE24 40,000,000 40,000
HH2HZH (222 0t) 14,440 13,500 940
Jl2 &3l 14,440 13,500 940
Jl224l 14,440 13,500 940
201 LB-2dH| 5,440 5,100 340
01 At 22/l 5,440 5,100 340
NAREE 2 200,000 16X 3,200
NestE2n dRFX oA
7,000 16 202 2,240
202 odl 4,800 4,200 600
01 = LH o4 1l 4,800 4,200 600
Nest2Z0 d2FX 0l
50,000 «16H x6 4,800
203 R =&t 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
NEM2ZYRFIH 350,000& 128 4,200
HWees (222 1,000,000 100,000 900,000
HEAHHK = 1,000,000 100,000 900,000
LHEHeH X = 1,000,000 100,000 900,000
702 JISEES 1,000,000 100,000 900,000
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